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Akramelbehiri.com 0505134521 gl aSi /2 SN Juadl) adiia pde AU pliasS D il pigad
Pdiicd ikl (guill -shintetS - D (el yiid gagw

2023-2022 cualleiall (guai] yied| Jutd] - SRk} 3e0 Gl guintd

U g9,Sg )l Ooldiinn — ASEI B> gl O 9338 ydugll - SV Bl

02593 Jgew 1+ Ol J1gew 2 + J15w 5 | padgs Jlow 1 + Olyogil Jloew 2 + Jlgewll

1

S el o 2l AT S VL ey ldal) 2E el
1 Explain why carbon forms many compounds student ta: 24
Which of the following is correct regarding to carbon atom? LT A L. Laa gl

A Carbon atom can form only single covalent bonds C_‘:m).\m Aranlid Jaly y (oS (g SI 53 anlais )&

A Carbon atom can form straight chains only oSl (0588 Hpa 81 53 alains >{

A Carbon atom can form bonds with other carbon aloms . Al ¢ 5 eSS % e i k/

@Al Oaa Silyd aa dalyy (S5 sS85 palails
i B e v, |
A Carbon atom can form four covalent bonds Apanld dagly s sl 03555 05080 550 madsiess %

Lo |
Only I

v
III and TV

VIl

IT and IV O C

Lazs |1

Only II 0 D



Akram Elbehiri
Pencil


Akramelbehiri.com 0505134521 o) asi Gl Juall) adile jde A pliaS D (ol gigad

2

5 A2 + il IS 242
student textbook+ fiqure 5§

el S g ey Ayl Sy S ) G e

Distinguish between the saturated and the unsaturated hydrocarbons

Which of the compounds shown in the table 3159 b el oliah (Jgaall B33 ) g S 5l e 4
below is an unsaturated hydrocarbon? T > -+ —
L) Syl A

A - Compound 2 only

B - Compound 1 only L] £, .B
C - Compounds 2 and 3 only hﬁ}sl&@ﬂ'@():)
D - Compounds 1 and 3 only L¥3 9108 4-D

/ )
Vs |t X

H H HHH

1N / | 1 |
=(C H—C—C—C—H

/ \ [T [ |

HHH

CH, H H
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Describe the process wsed to separate petroleom compounds by explaining the physical property used during the process

243-244

student textbook+ fiqures 6 and 7

Petroleum is separated into simpler components or DAa el elial ol lig€a U LA Ll Joad 3
fractions through fractional distillation as shown in the Lolaal gl & e ga LS usall bl

figure below. Which of the following is true? 3 Laa g

Fractions with higher boiling points RS S (T PRI K [ Y U (a
are drawn closer to the top of the tower z { on iy |
Fractions with higher boiling points AV DAl Cilaa 3 el G S
are drawn closer to the bottom of the tower oAl Jid o il
Hydrocarbons with shorter chains are drawn el Qo) 3 g S el e g ( o
near the bottom of the lower M o i
Hydrocarbons with larger chains are drawn SV Sl o i Sgpael ans o5 L(d
near the top of the tower E}Q‘ e Al
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o SN SR g gl ARy Ay gl S et e T A o A pagalty L dipealt o Al ) ipaall | Aalal diguall 2223 14 e TS e
[ Shaaly o i) i ) g 3 AN S g AN S 282.283
Tdentily general lormiali, moleoular formulia, strocducal formola aod fendional group for different Bmilies of organic
conm pounds induding alcohels, ethers, carbanyl compounids containing mitvegen [anines aod amides) A . aaa

Regarding the formula of propane in the figure below, @ AL Les éi bl J<al & Ol ) drpay (3l Lad

which of the following is correct?

It gives a more realistic picture of the relative size il Al aas Ty

ilg Sl 5y dagall o2 5
s ST 8jpea An; —*;Lﬂ-'o A

and arrangement of the atoms in the molecule

ssall ALt fs

It is called the space-filling model

It is called the structural formula

It is called the chemical formula
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Explain the fctors affect the propertics and nses of organic balides

student textbook+ table Z+figure 4

Which of the following compounds has
The higher boiling point

Sl da e o) Al ARG Qs Hall e )

of CH3;CH,CH,CH.CH,F
) Cl CH3CH.CH,CH,CH.Cl
C> Br CH3CH,CH,CH,CH,Br
i CH:CH,CH,CH,CH.!
G —

(D
(i)
(iii)

D

@ O A
i) O B
(i o C

) O @
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Define an amines while dassifying it into primary, secondary and vertiary amine student textbook
Which of the following is a primary amine? § A Ol i laa gl
A- "1™ myYo-A
B_ " 1 " " 2 " B U»
C- "3" n3n_(C
D_ "4" "4"'D
O/ H
CH; — O N7 3
CH,
(&
CH; —N_ 4
CH,
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IUPAC 2848 Litiies { 4o il o Lailcal) AL ) S50 MN CLIENY ey =1 PRE AT [ LR L L
Use IUPAC rubes to name aliphatic alleanes [straight chain, branched) : 249-250-251
student textbook+ example +applications

What is the name of the following hydrocarbon Y(IUPAC) slad Lz Gl e Sesngd) ol L
according to the (IUPAC) system?

2 3t s W e s a0
S\C H,-CH-CH-CH,-CH,—CH,

CH-CH;, ;

CH,

0L Jogy-d-debse-3 |G
Oled Jogponl-d-dides-3 (1
Ol JA=--3-J§3)93}3‘-4@
OLuSa Jwgpgial-3-deka-4 | (g
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IUPAG tane! incall e AP diial) hgnad o

Sl +2 s

Draw the struciure of cydoalkanes given its ITPAC name

Example 2+ Applications

252-253

Which of the following structural formulas has the correct name
written next to it?
(use the IUPAC rules)

gy o 350 priaeall a1 Ljal AN ALl Asall g
{( WWPAC) sl Laadiaa)

CH (a
gila GluSa Sl LS —5K 1
1,5—dimethyl cyclohexane
CHs
CH (b
4 CHj

Al GlSa Uise 0 —d B 1
1.3.4-trimethyl cyclohgxa

CH,

>
(C

Ala sy Qe A5 —362¢ 1
1.2,3-trimethyl cyclopentane

1
nta

il ol e A5G -3
1,1,3—trimethyl cyclo
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Explain physical properties of alkanes

student textbook+ table 4

Which of the following is a property of
alkanes 9
A — Are polar organic compounds
B - Have a high solubility in water
C - Have high melting and boiling points

D — Have low solubility in water

¢ QUL jailad e yfiad e g

%\"*&J@ €y - A

A2 $Ll B L3 45 - B
DK Ll g b ol a2 - C
dmisi, ol et 5406 (D)

e —
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ARSI (g T3 AT s g 1l Sdanli ¢+ Gkl il 255 and 258

oompare the properties of alkenes and alkyors with those of alkane

student textbook+ table 5

Why are alkenes more reactive than alkanes?

B - Because the second covalent bond increases the
electron density between the double bond carbons
C - Because they are saturated hydrocarbons

D — Because the reactants cannot pull the electrons %uﬁ)siﬁ? W -C

away from the doublebond

CUISH e Solit ST LS sl 130

A — Because the second covalentbonddecreases the A g SN u‘:‘@m. dpaald Al ) oy - A
electron densitybetween the doublebond carbons e — : T
Y Al ddad I (e S S8 O

A g IV AR ad 3 A dpaald A ) oY (B

44080 A 530S 0 0

ms \;,uj_):.sj}w*;}QLi_‘ﬁ.‘:- Y dlelindl i ol N — D
400 4dayl ) e
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IUPAG s b sidons SLAST ey B Jyapdl 4 ol Og al

258-259
Use IUPAC rules to name alkynes

student textbook+ table &

What is the correct structural formula for the 1 Spall 3 N asid) Zoedl)

compound: fouluatt = 2 = Qe -5 .54 -J1-4

4- ethyl - 4 ,5,5 — trimethyl —2-hexyne?

_— e =

ol Wi %k

B- "2°" g Tl

C= Wgy B

B "4"-D
CH, CH,

|
CH,CH4CHCCH,CCH, | 1

CH, CH,
CH, CH, z
H
- 4 ? 2
CH,CH 7= CHCCH CCH, H,C—C=C— —CH,
CH

CH, CH,CH,
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IUPAG 2§ i 4000 3 1 il o g

Sl 4 Jler G0l

Use IUPAC system to name the aromatic compounds

student texthook+Example 4+ Applications

268-289

What is the name of the following hydrocarbon according

to the (IUPAC) system?

&
CH,CH;

CH

0("JPAC) ,.‘J.d [ "J:g g_,:_)s_,).‘._*l‘ ,n‘\ L

1 — methyl — 2 — ethyl — 4 — propyl benzene

o =4 - 4 = 2 - U]

(a

1 - ethyl - 3 - propyl - 6 — methyl benzene

o e = 6 dyan— 3 - 4l -1

(b

4 - ethyl = 1 — methyl - 2 - propyl benzene

O dman— 2 - Sh 1= 04 -4
< _— = ==

®

1 — ethyl — 6 — methyl — 3 — propyl benzene

O sy 3 ~Uaa - 6 - U -1

(d



Akram Elbehiri
Pencil


Akramelbehiri.com 0505134521

g p i [

13

SN Juadl) adiia pde AU pliasS D il pigad

13

o adia g SR Sl IUPAL s iy

SR 4 oAkl G ek i

Write the IUPAC name of alkyl halides ami aryl halides

student textbook+ Applications

\
C

®
. (a
1 - chloro — 2 — Fluoro — 4 — bromo hexane Chuh pagg— 4 — gl — 2 — 4 K-]
- B e )
s D=1 - k4 - iy 2 (R

2 — bromo - 4 — chioro — 1 — Fluoro hexane

& — chioro = 3 - bromo - 5 - Fluoro hexane

3 - bromo -6 — chloro = 5 - Fluoro hexane

(d
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(kb s 0 | AP i 1 D ity AR Aghaiall o iy S gl e By g

5 dsipl 4T US40 4 oAUl 28 al

Compare and contrast properties of ether and alcohol of similar size and mass [Volatility, boiling point, solubility in water)

student textbook+ fiquraT+table §

288-285-290

Which of the following compounds has
the most solublity in water

plall A Clagd Jisy)

ARl S pall e g

H

H H
| I
C

H H

H H -
A
H b ba
I
= 0 = == ¢ =—H

(a

0

C

(d
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wall B o e bl B oy il i) S ey et iy ibnd] G g pilall S i

dehydration reactions

Define the elimination reaction while writing the eguation for some elimination readions including debhydrogenation, and

studant textbook

298-293

Which of the following reaction is an elimination reaction?

A- "1
H- WgH
c- *3*
D- "4"

S

R—CH3; + X;— R}@)X + HX 1

H=C=—C—H — + H, @

R CH=CH2+H2—*R><2 CHj 3

RX+OH'_0R><+X' 4

eaia Jelin i 200N COllEl (e

S EE
naw_g

H4" .D
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16

ot Rt Al oot p s B i) g At whadl A 5 g A Al Sy ke iy ] RS 12 sl + okl 28 el

Drefine addition reaction while writing the equation for some addition reactions indoding hydrogenation, hydration,

hyebriaialings

g e student textbook+ table 12

300-301

Which is correct about the following reactions

A edle Ul Al s L Laa ()

¢ 42 R—CHz—CH;—OH — R + H50

U6\ RECH=CH) + Hz — R—CHz—CH; 424

.
=

1 Is an elfimination reaction and is called L o e . 23 e (a

a dehydration reaction elal £ 08 gty el el

2 is an addition reaction, one of its COMMON USES Ll AaSlll ldain) ey il 2 4 Je=lil (b

is to converl lquid fats info solid fats o oA ) ABLD Jyad
? is an addiﬂvufn rr-ac!i-un u-rm::ff'rts COMMON USES |, o2 1.3 Gl ey Aibial 1 4 Jolid @
is to converl liguid fats into solid fats Zila (joha ) AlLD jpasl

—_—

2 is an efimination reaction and is called (d

a dehydrogenalion reaction

Condvhagh £33 Jall adis ciia 2 ) Jaldl
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Use IUPAC Fules to name alkenes and cycloalkenes student textbook+ fiqurei2+Applicafions
Which is the correct structural formula for the following Sl oS a0 sl L
alkene? (3-methyl-1,3-pentadiene) (o3 1 wfia-3)
e ?

@)

v | 2
(CHaCH=C—CH=CH,

CI3H3 (b
CHaCH5-CH -%HE

CH2=CHCH2@?~1/§CH2 (c

(e o 1 [€
CH:,CH—(;><=C =CH,
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AT US4 hlall ol pal 261

§ S 0 B e | SAETT g gl SAREIS Al il S o ) it
student texthook+ fiqura 17

Write possible structural isomers of alkanes, alkenes and alkynes [Up to six carbon aloms)

o) el Al .:..\_,.._\ S pall 71900 Oa )

Which of the following pairs of isomers are not structural isomers of each other?

CH=CCH, , CH=C=CH: | A [ C5 Hy

%‘H’ Cg H |O

CH;CHCH=CH;

CH=CH . CH.CH=CHCH;
| | cuH @
CH.=CH, 418

I
(CH:.CH.CH,CH; , CH,CHCH;
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St 2 B e g g ) (e S ) oy D ey

195 1B CylS + Qi S yad =

Desceribe the difference between cis- and trans- i in terms of it Bomers

student textbook+ fiqures 18 and 19

Which of the compounds presented in the table below “
have geometric isomers?

A - The compound "1” only

B - The Compound "2 only

C - Bothcompounds " 1 "and" 3" only

D - Bothcompounds " 2 "and" 3" only /

iy g o 4al oliai J gandl & B2 ) gl S pall 5
® daia
L oSyl A

s 2 s, IGEDY

"3 1S el e RS- C

"3y "2 S s BE-D

ya

)(ls Y 2

X

cn,cmcn@ CH,CH=CH

C==CHCH
CH,CH, @ L,CH.CH,
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534 oalpad +BJLE + a8 Ll

Use IUPAL rules to name the aloohol and ethers

student textbook+ fiqure 3+table 4 and 5

288-289-290

Which of the following formulas represents

3-methyl-2-pentanol

S el il A Al (a5

Jeidda 2 e 3

A —Formula 1
B - Formula 2
C —-Formula 3
D - Formula 4 ti,lH {IJH
rn.-rn(‘n_?‘nf'm 5 CHL.CIICIICIL; "
CH; (':115
OH
I
CH:CHCH.CH.CH: |
I 4

CH;

1 4aall - A
24l (B )
3 dsall - C
4 4apall - D
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Which of the following compounds has . .
OLls dapy o) Al Al el pall G )
The higher boiling point

CH;CH,CH; CH;CH.COOH CH3OCH; CH3;CH20H
) \D ) C B A -
o)) (XK ) S S

A O

B O

(co>

Do



Akram Elbehiri
Pencil


Akramelbehiri.com 0505134521 sl asi /o

22

SN Juadl) adiia jde AU slaS D wJ-ﬁGSJA:I

Which of the following Esters results from the
condensation reaction between Ethanol and

Butanoic acid?

;$/ LG Jolin G gk A0 ) )

\ Tl gl pad) (a5 \| 5L5Y)
D) \ - .\ — )
0{"9 M < TN ST v,

O
- x
C") Y C — O CHICH}CHl

/ .
CH,CH,CH,C -0 Wl CH,CH,
)

Yy N O\ =

? X
ICH]"C-O @
0 B

O
C":‘é“)l@ X
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